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i Acvectat field Fo v'i+x'j+ 2k, Evalumte soiface mitegral ”1-‘- . where
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£ 1) is a periodic function of period 2T of which its Fourier Serics exists and, for
. - E s T, s gven as follows:
fity= § 1, -2yl
{ G- =2 and T2 < =Y
{a). Write 1) io terms of s Fourler Sedes capansion, (5%)
(b}, g(U) is afsr a periodic function of period 2T of which its Fourier Seres exses and,
for -T2 t < T, iz given as follows:
glti= | L T 3 A
f 0, - Tr t <=TH4 and 147 <t <0,
How are its Founer Cocfhicients related to those of the abowe {1 7 (0%

7 () Find the Laglace transform of the funclicn et

LE 0<Ld, £5%)

efth it wolts L QL4 3
48 wolws i 14

thi Fiwd the current §{¢J) io the [ollosing RC cirouit, wherc R

' ohms. ¢ 0.1 farasl, and the initlal charge co Lhe capacitnr
s 0. The applicd ol lage souree ef{) 15 as glven an e abave
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